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B HE | - IREfliRE T =mH
SHGT P S WMk | (ke) &% (1) miE | e x| EH (BAD
30300 A% 20 4,320 216 216 216 | BN 20kg

Y3002 =4 (&) 67 30, 590 594 540 162 | &A 67kg

31100 A3 60 4,320 1,080 1,080 1,080 BN 44— R
31200 (L3 8 929 43 16 16| B~ 383K

31900 h¥ 10 3,850 486 378 324 BN 10kg

36800 HoX k9 22 4,288 281 184 184 | BN 22kg

34300 729 4 983 54 48 48 | BN 20K

34400 k-~ h 48 10, 886 238 238 194 BN 48kg

Y3058 HIE h~ b 6 7,657 248 238 238 | B 328y |
34100 #K 88 16, 346 38 38 36 | BN 441K
34140 [PUIEH T 11 2, 867 59 59 36| BN 554

34200 FE/I 17 2, 570 76 6 76 | BN 344

34200 /K 91 18, 025 205 205 184 | B 91kg

34270 Ry F—= 11 1,706 32 32 22 B 544

34500 bt—= > 10 2,527 324 324 184 B 10kg

35100 WAITA 4 475 119 119 119 | BHN kg

35500 | 277 ® 1 324 324 324 324 | BW 148
36200 EmgrE 50 7,020 140 140 140 B 50kg

36600 ~EhE 100 5, 994 65 59 59 B 100kg
33420 /U—2U—T L AR 2 594 59 59 59 | B 108
34780 WKL S LA L 101 115,787 108 81  65|&M 1,3364K
34930 LA 21 9,515 140 130 130 | B 714

Y3017 i&t& Y 2 2,376 1,080 1,080 1,080 &K 2kg

31500 /MEAZE 3 864 54 54 54 BN 163K

31500 /RaE 3 1,102 65 65 65 | B 1748

34800 B 5 9 12, 636 140 140 140 | BN 90% > h
37520 AR L% ’ 3 513 54 54 38| BA 113k

21011 A7 L—% 74, 682 70 65 50 | &N 1, 2004
71030 | K3 &F 11, 718 173 162 86 BN 754

71032 KSt&F (37) ) 2, 700 6] 76 50 BN 404

71150 | LiF 1,242 65 65 59 BN 205K

71294 H T — 108 22 22 22 B 5

39870 Z Dt 2,376 2,916 486 432 | BN 3kg

Y5010 Sb&Rx (#) 1,312 486 486 486 | BA 3kg B
30100 72z A 150 11,232 86 70 70 | EIRE 1504
30300 A% R L 80 12,312 1,944| 1,404 1,404 FEA 87—
31100 B3 150 7,236 756 756 540 |EIR B 1047 — %
33810 FREKE 8 3, 456 86 86 86 ERE  40%
37440 bl ’ 2 896, 896 896 896 BAE  1r—A
31700 F ¥ 170 13,014 864 756 702 BEIRE 17— A"
Y3055 Ly RE¥ gy 16 864 54 54 54 BEVEE, 16/




i . @ B , e 25
a—F sh4 E 2 (kg) &5 (M) = il E | P (BA37)
31800 135 M A 4 3,024 162 162 140 | B2 R B 2043 i
31950 HAX 9 1,944 648 648 648 | E 34— A
31950 FHAaX o M | 15 6,696 1,404 1,206 1,296 k4> 5H—%
31900 A 10 4, 428 270 216 216 |EIR B 203K (500¢)
31930 ¥ 6 4, 050 86 86 49 IR 604

32800 125 S 15 3, 370 24 24 17 | B 1503
34300 739 30 9, 180 1,620 1,620 1,296 HeA 64— A
34400 k=< k M 12 4, 860 1,620 1, 620 1,620 EERE 37—
34460 =k E s 10 3,629 76 76 6 BEE 485y
34100 #i/K B 10 1,080 540 540 540 BERE o |
34100 #HiJI B 15 2, 592 864 864 864 |FEIR B 34 —2R
34520 RE—< B |L 2 1,080 1,080 1,080 1,080 HEVEE 14—
36600 7-EFhX S 100 2, 160 432 432 432 |18 54— A
37200 L x 58 2L 8 2, 808 1, 404 1, 404 1,404 | EH 24— A
33400 L& % 50 4,082 86 22 22| R4y 1261#
33441 B AL LH R 23 292 5 2 LIERE - 116f&
38100 A LWz 5 3,726 76 76 70 | B I 50,8y 7
34700 £S5 HAHI L 30 5, 400 54 54 54 BBV 10074

31310 AP 5 1,782 81 65 65 |15 2548

31500 /Ia3E 8 3, 456 86 86 86 | #& ] 4048

32500 HoE 1 432 43 43 43| K% 10
36710 ITAIZL D3 2 837 59 59 27 | E 193K

37560 BEIT 1 2, 214 281 281 270 | R4y 8Ny
36400 725 M 10 2, 376 2,376 2, 376 2,376 | H#HE 1 —=
41430 S L—F T N—v 3 1,188 1,188 1,188 1,188\ 7 AUM 14 —2A
45220 T I U7 1 713 238 238 238 | #a i IRy
139200 5 % 2L 10 3, 240 324 324 324 |BEA 10kg ]
Y4001 {R=E A1y 2 1,188 594 594 594 | IR 218

47310 NHFVam Aoy 23 7,236 324 324 210 A% 3 23f@

49100 /SFF 60 19,116 4,104 3, 564 3,564 74 Uty S5H—A |
721090 A X —F =% 5,130 54 54 49 | KBRFF 1004
21205 A—x— 3 v 28, 836 49 43 32 | KFRJFF 6857
Y5006 50 (B4h) 120 35,910 3,218 2,840 2,776 |BIRE 12—
Y5006  #HIF (44 70 18, 554 190 190 175 | EIRS 10073y 7

7 ait 2, 324 608, 821 |
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